
Power Elevating Legrest (4XP)
Genius and AT5544
Basic Recline (4XP)

NOTE: Legrest components can be found on the "Genius Legrest" page for Genius and form number
97-188 2G Storm Series parts catalog for Invacare AT5544.



Power Elevating Legrest (4XP)
Genius and AT5544
Basic Recline (4XP)

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

0239000-NLA NLA - Actuator Motor, Power Leg, 4XP (4" Stroke) 1 11
0053600-NLA NLA - Pin, Roll (1/8 x 1-1/8") 1 12

1106223 Screw, Socket Head (3/8-16 x 2-1/2") 1 13
0054106-NLA NLA - Locknut, High Profile (3/8-16) 1 14
0053900-NLA NLA - Washer, Nylon (3/8 x 13/16 x 1/16") 1 25

1077509 Actuator Motor w/ Hardware, Power Leg, 4XP (4"
Stroke) 

1 16
0236102-NLA NLA - Brace, Cross, Power Leg - Rear (4XP) (16"

W)
1 17

0236202-NLA NLA - Brace, Cross, Power Leg - Rear (4XP) (18"
W)

1 17
1024793-NLA NLA - Screw, Hex Head (1/4-20 x 1-3/4") 1 48

0050406 Washer, Flat (1/4 x 5/8 x 1/16") 1 109
7930333 Locknut (1/4-20) 1 610

0238206-NLA NLA - Screw, Hex Head  (1/2-20 x 2") (For 16" Seat
Depth)

1 111 C
0238306-NLA NLA - Screw, Hex Head (1/2-20 x 4") (For 18" Seat

Depth)
1 111 D

0238406 Screw, Hex Head (1/2-20 x 6") (For 20" Seat Depth) 1 111 E
0235622-NLA NLA - Actuator Extension, 2" (18" Seat Depth) 1 112 D
0235722-NLA NLA - Actuator Extension, 4" (20" Seat Depth) 1 112 E
0235802-NLA NLA - Bar, Push, Power Leg (4XP) (16" W) 1 113
0235902-NLA NLA - Push Bar, Power Leg (4XP) 18" Wide 1 113

1071237 Plug Button, Square, Black (1") 1 214
0132206-NLA NLA - Screw, Allen Head  (1/4-20 x 1-3/4") 1 215
0026400-NLA NLA - Receptacle, Power Legrest 1 216
0025306-NLA NLA - Push Pin, AT5544 1 117

0236602 Bracket, Push - Right 1 118
0236502 Bracket, Push - Left 1 118

0055206-NLA NLA - Screw, Cap, Button Head, Socket  (5/16-18 x
1-3/4")

1 419
0055900-NLA NLA - U-Clamp (7/8") 1 220
0054806-NLA NLA - Washer, Flat  (11/32 x 11/16 x 1/16") 1 1021

0054906 Locknut, High Profile (5/16-18) 1 422
0054106-NLA NLA - Locknut, High Profile (3/8-16) 1 223

1084181 Hardware, Legrest Mounting, AT5554 - Right 1 124 A
1084182 Hardware, Legrest Mounting, AT5554 - Left 1 124 A

0203906-NLA NLA - Pin, Push, Inside Mount, Genius 1 225
1077518 Hardware, Legrest Mounting, Genius 1 226 B

A - Includes items 17-23  
B - Includes items 23, 25  
C - 16" Seat Depth  
D - 18" Seat Depth  
E - 20" Seat Depth  

NOTE:

 


